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PROVING Liee sin®z + cos®x = 1 7 radians = 180 degrees o2 3 — 1 4 cos(2x)
2 9 r radians = 89 degrees 2
tan®z + 1 = sec” & g : 1 — cos(2x)
Trigonometric d degrees = {55 radians  sin”z =
S o cot’x + 1 = csc? x 2
Identities
cos(2z) = cos® z — sin® H
sin(2x) = 2sinx cos x 5
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(x —h)*+ (y —k)? =r* Yy =+/T y=_
v =2t (2%)" =2 T = \/_ Y =1
Exponents 70 . . - . 1
E:xa— T™n :((”/5) 732 \/_ :E—lzg

To solve ax? + bx + ¢ = 0 for x a’ — b? = (a—b)(a—l—b)
(1) factor (if you can), or a’ +b° = (a + b)(a® F ab + b°)

—b+ Vb2 — 4dac (a’“b) = a” + 2ab + b
(2) use x = 9 (a+b)(c+ d) = ac + ad + be + bd

Factoring




